
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Addisjon opptil 1000 (horisontalt)

559 + 405 = 727 + 326 =

957 + 928 = 871 + 136 =

257 + 594 = 128 + 475 =

829 + 964 = 340 + 723 =

268 + 626 = 929 + 212 =

554 + 885 = 27 + 80 =

456 + 444 = 726 + 736 =

837 + 139 = 516 + 440 =

964 + 461 = 646 + 977 =

90 + 912 = 880 + 500 =
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Addisjon opptil 1000 (horisontalt)

559 + 405 = 964 727 + 326 = 1053

957 + 928 = 1885 871 + 136 = 1007

257 + 594 = 851 128 + 475 = 603

829 + 964 = 1793 340 + 723 = 1063

268 + 626 = 894 929 + 212 = 1141

554 + 885 = 1439 27 + 80 = 107

456 + 444 = 900 726 + 736 = 1462

837 + 139 = 976 516 + 440 = 956

964 + 461 = 1425 646 + 977 = 1623

90 + 912 = 1002 880 + 500 = 1380
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